GROUP E

.- ASSEMBLY
P/N OF8274

Z
(@]
>_
5
@]
ZF
~N
s I TT
wwkFo
N o™
C000=
ZIT =
l/
o\ o
3 @
P of
<z F <
E< \ 5T
Z= mw
=z Z
Z0
Q
o

INTAKE
MANIFOLD

IMPORTANT
SOLENOID MUST BE

INSTALLED WITH FLOW
ARROW POINTING IN
DIRECTION SHOWN IN

FUEL NG & LP VAPOR 6.8L 4 POLE EMISSIONS

T e
52 3
I
Sk
I+
82 ©
Q= &
Coz
—
S o
be O

u

@]

m

<C

=

<

[11]

[m]
o
[«
o
8
<
Ay
a
o
Z9
g
=
35



EXPLODED VIEW: FUEL NG & LP VAPOR 6.8L 4 POLE EMISSIONS

DRAWING #: 0H0652

APPLICABLE TO:

ITEM PART # QTY. DESCRIPTION
1 049721 4 SCREW HHC M6-1.0 X 35 G8.8 BLK
2 075580 1 FLANGE FUEL INLET
3 0H0651 1 REG 6.8L CPL 70KW LPV EMSN

O0HO0651A 1 REG 6.8L CPL 70KW NG EMSN
4 039253 2 SCREW HHC M8-1.25 X 20 G8.8
5 022145 2 WASHER FLAT 5/16-M8 ZINC
6 022129 2 WASHER LOCK M8-5/16
7 045771 2 NUT HEX M8-1.25 G8 CLEAR ZINC
8 042568 2 SCREW HHC M6-1.0 X 20 G8.8
9 0F6155 1 HARNESS,FUEL JUMPER SINGLE REG
10 026812 2 ELBOW 90D 3/4NPT
1 0F8379 1 NIPPLE PIPE 3/4NPT X 7
12 0D2698 1 GASKET ADAPTER THROT BODY
13 057823 4 CLAMP HOSE #10 .56-1.06
14 059057 2 HOSE 3/4 ID SAE-30R2 (38.5” LG)
15 049811 2 WASHER FLAT M6
16 0D1509 1 DECAL INLET PRESSURE
17 050279 1 DECAL FUEL INLET NG (NATURAL GAS APPLICATION)
050280 1 DECAL FUEL INLET LPG (LP VAPOR APPLICATION)

18 0H2353 1 ASSY,ADAPTER,THROTTLE BODY
19 0E4390 1 GASKET, GOVERNOR ACTUATOR
20 0E4392 1 ACTUATOR BOSCH 60, GOVERNOR
21 0F0960 1 REDUCER 3.0" TO 2.75" TURBO
22 0F3885 1 MIXER, 40/60MM ACTUATOR ASSY
23 0G3167 2 O-RING 2-3/4 X 3/32 X 2-15/16
24 0F3691B 1 VENTURI, THROTTLE 36MM
25 026073A 1 PLUG STD PIPE 1/4 STEEL SQ HD
26 0D2157 4 SCREW SHC M6-1.0 X 50 C8.8
27 039294 2 CLAMP HOSE #44 2.31-3.25
28 022097 10 WASHER LOCK M6-1/4
29 026915 2 NIPPLE CLOSE 3/4 X 1.375
30 0G46350ST03 1 BRACKET, HOSE RISER
3 039450 2 BARBED EL 90 3/16 X 1/8
32 077879 1 HOSE VACUUM 5/32 (5.5”LG)
33 0F1866A 1 BARBED EL W/VENT (.052")
34 077879 1 HOSE VACUUM 5/32 (11”LG)
35 0G4588 1 PIPE TEE W/BRACKET WELDED
36 0C2454 2 SCREW TH-FRM M6-1 X 16 N WA Z/JS
37 077879 1 HOSE VACUUM 5/32 (10.5” LG)

REVISION: H-5588-E

DATE: 2/2/10

GROUP E

PAGE2 OF 2



